$=1:25, 000

= T=F -

COMREE, ELERROKITEFT, RREFETOHMEX25000
(hHEG) ZEH L=t DTH D,
(REBHES T2OMFE 54528)

BAREZROEE |SMEMMOHREER
REES

8 1059-2
XA

#|
A TE 3 AR SEER T 7%

TEED (BH) HIAMUTOBRE
TEEOBEICK D HAI00N/MEE 2 HRiE

TEEOHBOFSMAIMERZ DR

LS DORE

i1

BBITLDHNDOEKXE KN/m) 15
BEmnmK (m)

HIECEDADEKIE (KN/m)

1 II IIII| \
A .
Ny
9.6 Wi\ ST
7.0 IS g
17.6 / | | —
EREOBA (m) 3.5 )\ ro
e = _F___.."r. = iI I': = '|_-
L 1 II 3 L1
[ I., ] = ||II T
l. - \ = _ » |y _\_M;'_-___I_
50 100m
? =
S=1:2, 500
F=rt- 1 [y I

— =———
e
e
e
T 1) .

J _h\-\‘ -
g | ] %
Y mRARESHER [
"_f s L7
[ .____,__-.. o ._'-.o? I'I |I
e & |
; o vl
f r/”“
: (
\ \
I'-jl W '.\.\ - | |II I'.II
— === | I[N
¥ = IJ I| "‘\ )
% e k'l'-. > P
. 7

a |‘
/E g g




